LOSM(&D\ S AL W H M

ber weﬁ\c»"\vu-\ :Exf)ot«xn.a.\'t(.~ da £ die Tasts Wit © sesan

4) 0») l(wr% ﬁe&a(‘
wd 5 Bradew darf b Newor keme O gllec

A Y- - ~T-
9 Xk a0 E97 e ey (AN
) x ‘o = ey
L+o
P A-(-2) L 2-(=3) N3
S TN U cﬂ(xv)ag _oTEL yE O3
3 = (xy)
® 33 N 3 (g
¥t e & =
3= wpS = AL gx4 -64) 3
)&) P L(.P &E > ‘L’C-A - L’.x = g (X'—"’O)
-3 3-(-9)
C) Gx - §xZ Y = ,Zox \/ c‘) 3" =08 = o5x (x#40)
- -2 -S z-(—z)_—z; S
€) Yoo §a 35& (Q#’O) \C> Aoty 3 = Sy
(xy #0)
$) 2ab™. = 6a 5" (& 40)
l'\) q"XY. % A=) -2-(-2) 3.-,\
'z;—’z;-_zf =% Y = ] 3y°e‘ = Ix'2? (xy2+0)
A 4 4,4 S.2 3 5
Ml)O(Z—i ‘03 S = 0(32+S = O‘3M+M = 0(3M = 0,34
4 1.3 S
DEFRR I ststogtt gt gt He
3 X .2 S R
NETD = x*xT= X" F=x"> X (x=0)
o




